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ประชากรและกลุ่มตัวอย่าง 

 1. �����ก�#�+�����ก����	
���

���
�����������&-�������#��6��"�������#� �$�!� $  
%&�'!��
(�� �!��"�������
���) 	
���
'����#�� 	!���� 619 ���	!�0�ก%'�'
���
 (�#� �$�!� $         
%&�'!��
(��.  2553 : 6) 
  1.1 �������#�+������#�+�6��"���=����*��0$�#�+'��  39 ��� 
  1.2 �������#�+������#�+�6��"��� !��,�#���#�+  573 ��� 
  1.3 �������#�+������#�+�6��"����?��  7 ��� 
 2. ก$,���
������#�+�����ก����ก����

���
 ��*+��	�ก�����ก���	!����0�����ก����
	!�������ก$,���
������	�����6-�� ������� (Yamane) 0$�%'�ก!���'���'�
������='��������
��*+��
+�����$� 95 0$��������ก�'�����$�'��$*+�����ก��6,���
����������$� 5 %'�ก$,���
������
	!���� 243 �� (6,����5  ����="��"����5.  2546 : 129)   
 3. ก��6,���
������ 
  ก��6,���
�����������E�ก��6,���
�����������0  =���� (Quota sampling) ='��ก3 
�� ���	!�0�ก�������"#"��� 	�ก�������&-����!���"���#�+�#� �$�!� $%&�'!��
(�� �!��"�
������
���)  	
���
'����#��  	��� ���	!����ก$,���
������ 243 �� 
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����� 3 �����ก�0$�ก$,���
������	!�0�ก�������"#"��� 
 

����"#"��� 	!���������ก� (N) ���'�
������ (n) 
 
1.  "���=����*��0$�#�+'�� 

 
 39 

 
 16 

2.  "��� !��,�#���#�+                      573 224 
3.  "����?��   7  3 

���                   619 243 
   

 
#�+�� : �#� �$�!� $%&�'!��
(��.  2553 : 7 
 
เครื�องมือที�ใช้ในการวจัิย 

 1. ���*+���*�#�+�����ก����	
�����0  6� P��	!���� 1 Q 
  ���ก� '��� 3 6��� 
%'�0ก� 
 6���#�+ 1 0  6� P����������-$#
+�%��ก�+��ก
 �R		
�6��� ,��$���ก� '��� ���  ���, 
6P��"��6��6 ��'
 ก����ก�� ����� 0$����%'��Q$�+�����'*�� 
 6���#�+ 2 0  6� P������ก��6� P���ก�+��ก
 ����������	����������#�+�����ก��
��� ��ก���
 �!���"�������#� �$�!� $%&�'!��
(�� �!��"�������
���) 	
���
'����#�� ��'��� 
1) �	������#�+ 2) ก�� ��ก�� 3) 6�+��!��������6�'�ก 0$� 4) ก�������6
��
�E5 
 $
ก�S�ก�������0�����0��$��!�P���

�0 ����ก���� 5 ��'
 0$�����'
 ก���
'����"#
����ก�������0����0��$����P*�����กST5 ���%���
 (ก� ��
)  %6�������.  2545 : 33) 
 
 ��0�� 5 ����P����'
 ����������	���ก����� ��ก���
 �!���"�����ก#�+6,' 
 ��0�� 4 ����P����'
 ����������	���ก����� ��ก���
 �!���"�����ก 
 ��0�� 3 ����P����'
 ����������	���ก����� ��ก���
 �!���"������ก$�� 
 ��0�� 2 ����P����'
 ����������	���ก����� ��ก���
 �!���"������� 
 ��0�� 1 ����P����'
 ����������	���ก����� ��ก���
 �!���"�������#�+6,' 
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 ��*+��� �������-$0$�0	ก0	�����P�+0$�� 	������0���Q$�+����ก$,���
������             
����	��S���'
 ����������	���&-���� ��ก���!���"���������#� �$�!� $%&�'!��
(��  �!��"�
������
���)  	
���
'����#�� U�+����กST5��ก����	��S�'
���
  
 
 ���������0��       =           ��0��6-�6,' W ��0���+!�6,' 
                                               	!�����

� 
    =           5 W 1 
                                   5 
     =           0.8 
 
 '
��

�&-���	
�	��ก!���'�กST5ก��0�$����������*+�	
'��'
 ����Q$�+���ก�������� 
'
����%���
 
 
 ����Q$�+� 4.21 W 5.00  ����P��  ��'
 ����������	��ก#�+6,' 
 ����Q$�+� 3.41 W 4.20  ����P��  ��'
 ����������	��ก 
 ����Q$�+� 2.61 W 3.40  ����P��  ��'
 ����������	���ก$�� 
 ����Q$�+� 1.81 W 2.60  ����P��  ��'
 ����������	���� 
 ����Q$�+� 1.00 W 1.80  ����P��  ��'
 ����������	����#�+6,' 
 
 6���#�+ 3 ����0  6� P���$����Z' (Open  end)  #�+���&-��� 0  6� P��06'�����
��'��3�0$�����6��0�������������6�� 
 2.  ก�����	6� �,S"��������*+���*���	
� &-���	
�%'��!�0  6� P��%����	6� 
�,S"�����*+���*�'
����%���
 
    2.1 ก�����	6� �����#�+����� (Validity) ='��!�0  6� P��#�+&-���	
�6������
�
	�กก����ก��0����' #_�`��$�'	�����-$#�+�ก�+������%��6��ก���ก��&-�#���,S�,(� ��*+�
���	6� ����P-ก����������*
����������!�P����0��$�������������	,'�,������0$�6�'�$���
ก
 ก����	
���

���
��*�%�� �$
�	�ก�

��!���0ก�%���
 ��,���*+�'!�����ก�����

����%� 
    2.2 ก����������*+��
+� (Reliability) ='��!�0  6� P��#�+��
 ��,�0$��%�#!�ก��
#'$����� (Try out) ก
 �������&-����!���"���#�+��$
ก�S��ก$������ก
 #�+	�#!�ก����ก�������
�#� �$�!� $#������ �!��"�������
���) 	
���
'����#�� 	!���� 30 �� 0$���!���#'6� �����
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������*+��
+����0  6� P��='������E�ก��������� �� (Cronbach) 0$���������5='� SPSS for 
windows ��������ก���!���S0$���������5����-$#��6P��� ��*+�����P-ก����0$�������6� -�S5
��ก��
� 
  
การทดลองเครื�องมือ  

 %'��!�0  6� P��%�#!�ก��#'$��������*+��
+����0  6� P�� (Try out) �������
&-�������#�+�6��"���������#� �$�!� $#������ �!��"�������
���)  	
���
'����#�� 	!���� 30 �,'  
='�6,��ก$,���
�������������6�'�ก ก
 &-������ ��ก�� ก����ก3 ����-$	���0$���!�����������5����
��*+��
+�'���=��0ก������������56!���3	�-� SPSS ='������E���� ���� �� �
$l� (Cronbachm s 
Alpha) U�+�ก!���'���������*+��
+� ��กก��� 0.7 ='�%'����������*+��
+��#��ก
  .878 U�+�P*������*+�P*�%'� 
(ก
$��  ������5 
)��.  2549 : 43) 	�ก�

�	���!�0  6� P��#�+&���ก��#'6� 0$��%����ก
 ก$,��
�
������#�+ก!���'���%�  
 

การเกบ็รวบรวมข้อมูล 
 ��ก����ก����	
���

���
  &-���	
�%'�'!�����ก���ก3 �� �������-$������� �ก����                   
�.�. 2555  ='�0	ก0  6� P�����ก
 �������&-�������#�+�6��"�������#� �$�!� $%&�'!��
(�� 
�!��"�������
���) 	
���
'����#�� ='����

����'
���
 
 1. &-���	
���
0	� �
�P,���6��5���ก���ก3 ����-$ ��*+�#!����������	ก
 �������&-���
����#�+�6��"�����ก���� 0  6� P����*+��������%���0��#���'���ก
� 
 2. &-���	
�$��*
�#�+'!�����ก��0	ก0  6� P��'�������� �����ก
 �
 0  6� P���*�
��'�������� ��*+��!�%���������5='���E�ก��#��6P������%� 
 
การวเิคราะห์ข้อมูล 

 6P���#�+�����ก����������5����-$6!���
 ก����ก����	
���

���
&-���	
�	��$*�ก���6P���='�
��	��S�P���
�P,���6��50$����������������-$='�ก����������5#�+���=��0ก��6!���3	�-���*+���
���6P��� '
���
 
 ก����������5����-$����	
���

���
 	��!�����-$#�+%'�	�ก0  6� P���������$&$'���
=��0ก��6!���3	�-�#��6P���  ='����6P�����������5 '
���
   
 1.   �������P�+0$��������$� (Frequency percentage) ��*+�����E� ������-$#�+%'�	�ก
0  6� P���������������ก����� ��ก���
 �!���"�������#� �$�!� $%&�'!��
(�� 
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 2.   �����0���Q$�+� (Mean) ��*+�����E� ������Q$�+��������-$#�+%'�	�ก0  6� P�� 
 3.   ���� �+��� �����r�� (Standard deviation : S.D.) ��*+�����E� ���������0������
��� ����-$#�+%'�	�ก �������������ก����� ��ก���
 �!���"�������#� �$�!� $%&�'!��
(��  
 4.   ก��#'6� 6����r�� '��� t-test ��*+��������� �#�� ����0�ก�����������������
0$�����)��#�+����������ก���������������ก����� ��ก���
 �!���"�������#� �$�!� $               
%&�'!��
(�� 
 5.   ก��#'6� 6����r��'��� One-way ANOVA : F-test ��*+��������� �#�� ����
0�ก�������������������ก��0$�������'��3�0$� ��*+�#!����������	ก
 �������&-�������#�+�6��
"�����ก���� 0  6� P����*+��������%���0��#���'���ก
�  ��������
�6!��
)#��6P��� 	������E�
����� �#�� ����Q$�+���������-�'�����E� 0$������ �#�� ����0�ก������������-� '�����E���� Fisherms 
LSD. Procedure  
 

 


